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IV Semester 3 Yrs. LL.B./VIII Semester 5 Yrs.  B.A. LL.B./B.B.A. LL.B.
Examination, December 2014

ALTERNATIVE  DISPUTE  RESOLUTION  SYSTEMS (Clinical Course – II)
(Course – IV)

Duration : 2 Hours Max. Marks : 60

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

2. Q. No. 9 carries 15 marks and the remaining questions

carry 9 marks each.

3. Answer should be written either in English or Kannada

completely.
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Q. No. 1. Discuss the advantages and disadvantages of inquisitorial

system.
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Q. No. 2. Explain the salient features of the Arbitration and Conciliation

Act, 1996.
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Q. No. 3. Explain appointment of conciliators.
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Q. No. 4. Explain the different approaches to negotiation.
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Q. No. 5. Explain the essential characteristic of a mediation process.
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Q. No. 6. Explain the role of conciliator under the Family Courts

Act, 1984.
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Q. No. 7. Explain the provisions relating to Lok-adalat.
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Q. No. 8. Write short note on any two of the following : (4½× 2=9)
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a) Qualifications of arbitrators
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b) Definition of mediation
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c) Power to negotiate
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Q. No. 9. Solve  any two of the following problems : (7½× 2=15)
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a) Smt. Manjula and Smt. Usha earned illegally Rs. 10,000/-. Both

Smt. Manjula  and Smt. Usha wanted to settle the matter in the

Lok-Adalat. Advice.
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b) As per the arbitration clause Smt. Laxmi  and Smt. Netra submitted

their dispute to adjudicate in the arbitral tribunal. Arbitral tribunal

decide subject matter which was not reffered to arbitration.

Smt. Laxmi and Smt. Netra want to set-aside the award. Advice.
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c) "A" and "B" referred their dispute to mediation. Both "A" and "B"

insists mediator to adjudicate their dispute. Advice "A" and "B".
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